cCpEVI!.II;IVIIIIH(rZM C HAKUAHOW rAVIKOW mmEl'A[@

&/ WORK

PNEUMAT

* Kopnyc: natyHb OT58
« MakcmansHoe gaBneHve 261 psi, 1800 kla, 18 6ap

OUTUHT NPAMOWA, HAPY)XHAA KOHUYECKAS PE3bBA (C1)

Kop Ref. @ F Ch Cht P L D
o 2301017 C1 5/3 1/8 12 9 80 260 20
— 2301001 C1 6/4 118 12 12 80 265 30
e 2301002 C1 6/4 1/4 14 12 11.0 300 30
|2 2301003 C1 8/6 1/8 12 14 80 265 50
2301004 C1 8/6 174 14 14 11.0 300 50
P'[ 2301005 C1 8/6 3/8 17 14 115 310 50
‘_J 2301020 C1 10/8 1/8 14 16 80 290 50

2301006 C1 10/8 1/4 14 16 110 320 68
2301007 C1 10/8 3/8 17 16 115 330 68
2301008 C1 10/8 172 22 16 140 360 68
2301009 C1 12/10  3/8 17 19 115 350 85

]
N
X
o
[N}
()
AN
o
<
AN
<
—
AN
o
T
=
X
<
<
T
@]
X
—
T
X
'_
X
o

2301010 C1 12110 172 22 19 140 380 85 S
2301015 C1 15/12.5 172 2 2 140 395 110 |£
S
S
OUTUHT NPAMOW, HAPY)XXHAS PE3bBA C YNIJIOTHEHWNEM (C1/2) )
Kop Ref. @ F Cch Cht P L D Oring
2351001 C1/Z 42 M5 9 9 40 230 15  4x15
2351002 C1/Z  6/4 M5 9 9 40 230 23 4x15
2351003 C1/z  6/4  1/8 13 12 6.0 250 30 2031

2351004 C1/Z  6/4 1/4 16 12 80 270 3.0 2043
2351005 C1/Z2  8/6 1/8 14 14 60 250 50 2031
2351006 C1/Z  8/6 /4 16 14 80 270 50 2043
2351007 C1/Z  8/6 3/8 19 14 90 290 50 2056
2351008 C1/Z2  10/8 1/4 16 16 80 290 6.8 2043
2351009 C1/z  10/8 3/8 19 16 90 310 68 2056
2351010 C1/Z2  10/8 12 24 16 11.0 330 68 3068
2351011 C1/Zz  12/10  3/8 19 19 90 330 85 2056
2351012 C1/z  12/10 172 24 19 11.0 350 85 3068

LF NBR

OUTUHI NPAMOIA, HAPY)XHAA METPUYECKAS PE3bBA (C1/C)

Kop Ref. © F ch ch1 P L D

; 2356001 C1/C 573 M5 9 9 4 2B 2
2356002 C1/C  6/4 M6 9 9 5 24 3

- 2356003 C1/C  6/4 MI2x15 17 12 8 27 3
2356004 C1/C  6/4 38 9 12 9 27 3

ch 2356005 C1/C  8/6 M12x15 17 14 8 27 5




]
=
=
o
[NN]
(]
=
o
pv4
=
<
—
=
o
T
=
AN
o4
<
T
]
=
—
T
N
—
=
©

OUTUHT NPAMOIA, BHYTPEHHSS PE3bBA (C2)

Kop,

2302001
2302002
2302012
2302003
2302004
2302005
2302006
2302007
2302008

PUTUHT-COEAUNHUTESD (C3)

Kog,

2303001
2303002
2303003
2303004

Ref.
Q
Q
(@]
(@]
Q
(@]
Q
(@]
Q

Ref.
a
a
a
a

6/4
6/4
6/4
8/6
8/6
8/6
10/8
10/8
10/8

6/4

8/6
10/8
12/10

OUTUHT-COEANHUTEND C MOHTAXHBIMU FANKAMM (C4)

Kop

2304001
2304002
2304003
2304004

Ref.
C4
4
4
C4

[
6/4
8/6
10/8
12/10

YFI0BOI ®UTUHT, HAPY)KHASl KOHUYECKAS PE3bBA (C5)

Kop,

Ch‘L' 2305016
ch 2305001
— ol of 2305002
J 2305003

- 2305004
2305005
F 2305006
2305007

2305008

2305009

2305010

2305017

YFNI0BO ®UTUHT, BHYTPEHHSASA PE3bBA (C5/F)

Kop
2352001
2352002

Ref.
(@)
(&3]
(6]
(@)
(6]
5
(@)
c5
(6]
5
(65)
(&)

Ref.
C5/F
C5/F

0
5/3
6/4
6/4
8/6
8/6
8/6
10/8
10/8
10/8
12/10
12/10
15/12.5

6/4
8/6

1/8
114
3/8
118
114
3/8
114
3/8
172

Ch
12
12
14
17

Ch
14
16
17
19

3
118
1/8
114
1/8
1/4
3/8
1/4
3/8
12
3/8
12
12

178
114

Ch1
12
14
16
19

Ch1
12
14
16
19

Ch

12

33.0
33.0
37.0
42.0

47.0
48.0
49.0
53.0

Ch1

12
14
14
14
16
16
16
19
19
22

Ch1
12
14

10.0
7.0
8.0

10.0
8.0

10.0

11.0

3.0
5.0
6.8
85

3.0
5.0
6.8
8.5

8.0

8.0
11.0

8.0
11.0
12.0
11.0
12.0
14.0
12.0
14.0
14.0

21.0
24.0

L

26.5
29.5
33.0
26.5
29.0
33.0
31.0
35.0
38.0

B

11.0

12.0
9.0
9.0

17.0
17.0
20.0
17.0
20.0
22.0
20.5
21.5
26.0
24.0
26.0
28.0

L1
22.0
235

D

3.0
3.0
3.0
5.0
5.0
5.0
6.8
6.8
6.8

F
M10x1
M12x1
M14x1
M16x1

22.0
220
22.0
22.0
22.0
21.5
25.0
25.0
285
31.0
31.0
32.8

3.0
5.0

20
3.0
3.0
5.0
5.0
5.0
6.8
6.8
6.8
8.5
8.5
10.7

7.0
7.0




ATN\METAL
&/ WORK

PNEUMAT

YFNI0BOIA ®UTUHT, HAPY)KHASl METPMYECKAS PE3bBA (C5/C)

Kopg Ref. @ F Ch CH1 P L L1 D
2357001 C5/C  6/4  M12x1.5 10 12 9 22 225 3
2357002 C5/C  8/6  M12x1.5 10 14 9 22 225 5

Kopg Ref. @ Ch Cht L D

2306001 Co 6/4 9 12 220 30
2306002 (6 8/6 12 14 22.0 5.0
2306003 C6 10/8 12 16 250 6.8
2306004 Co 12110 17 19 310 85
2306006 C6 15/12.5 18 22 328 107

OUTUHI C HAKUAHOW TAUKOW CEPUN C

TPOMHWK, HAPY)XHAS PE3bBA MO LIEHTPY (C7)

Kop Ref. @ F Ch Cht P L L1 D

2307015 C7 5/3 178 9 9 80 170 220 20
2307001 C7 6/4 118 9 12 80 170 220 30
2307002 C7 6/4 1/4 9 12 11.0 200 220 30
2307003 C7 8/6 178 12 14 80 170 220 5.0
2307004 C7 8/6 4 12 14 11.0 200 220 5.0
2307005 C7 8/6 3/8 12 14 120 220 230 5.0
2307006 C7 10/8 4 12 16 11.0 210 250 6.8
2307007 C7 10/8 3/8 12 16 120 220 250 6.8
2307008 C7 10/8 12 17 16 140 260 285 6.8
2307009 C7 1210 3/8 17 19 120 240 310 85
2307010 C7 1210 172 17 19 140 260 310 8.5
2307016 C7 15/12.5 172 18 22 140 280 328 107

TPOMHWK, HAPY)XHAS PE3bBA CEOKY (C8)

Kog Ref. @ F Ch Ch1 P L L1 D
CI’I L 2308012 (8 5/3 118 9 9 80 390 220 20
LCh ’.L 2308001 C8 6/4 1/8 9 12 80 390 220 30
P! 2308002 (8 6/4 1/4 9 12 1.0 420 220 30
7 2308003 (8 8/6 178 12 14 80 390 220 50

2308004 (8 8/6 174 12 14 11.0 420 220 50
ch 2308005 (8 8/6 3/8 12 14 125 450 230 50
2308006 (8 10/8 14 12 16 115 460 250 68

Ly

o

[ 2308007 C8  10/8 38 12 16 125 470 250 68
2308008 C8 108 1/2 17 16 135 545 285 68
2308009 C8 1210 3/8 17 19 115 550 310 85
2308010 C8 1210 12 17 19 135 570 310 85
TPOWHMWK (C9)
Kog Ref. O ch cht L D
p— 2309001 (9 6/4 9 12 20 30
el s 2309002 (9 86 12 14 220 50
o 5 2309003 C9 108 12 16 250 638

2309004 (9 1210 17 19 310 85
2309007 (9 15/12.5 18 22 328 107

ch,




FAKA (C10)

Kop Ref. @ F Cht L

2310001 C10 42 M7x0.5 9 9.0
2310009 C10 5/3 M7x0.5 9 9.0
2310002 C10 6/4-M5  M8x0.5 9 9.0
2310003 C10 6/4 M10x1 12 11.0
2310004 C10 8/6 M12x1 14 11.0
2310005 C10  10/8 M14x1 16 12.0
2310006 C10  12/10 M16x1 19 12.0
2310011 C10  15/125  M20x1 22 16.0

KPECTOBMHA (C11)

Kop Ref. 0@ Ch Ch1 L D

2311001 C11 6/4 10 12 215 30
2311002 C11 8/6 10 14 220 5.0
2311003 C11 10/8 12 16 245 6.8

TAPERED THREAD FITTINGS SERIES C WITH PTFE

Metal Work can supply fittings with a tapered thread coated in polytetrafluorethylene. This system provides the pneumatic seal between the
fitting and the female thread. It is therefore not necessary to add other sealing systems during assembly, such as adhesives or Teflon tape.
This significantly reduces assembly times. The physical and technical features of the material used ensure that the properties are maintained
through time and in a wide range of operating temperatures. This coating can be used with series C push-in fittings, types C1, C5, C7 and C8
that have a 1/8" to 1/2" gas taper thread.

]
=
=
o
[NN]
(]
=
o
pv4
=
<
—
=
o
T
=
AN
o4
<
T
]
=
—
T
N
—
=
©

TECHNICAL DATA

Temperature range for PTFE °C -45to + 80
°F -49to+176

KEY TO CODES

Fittings with a PTFE thread have the same code as the standard fitting, with the addition of the suffix T.
For example C1 6/4 1/8 fitting has code 2301001, so the PTFE version has code 2301001T.






